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Question 1
Question Type: MultipleChoice

When upgrading from the old version to the V200R006 version, the old configuration file cannot be used directly. You need to use the

configuration file conversion tool to convert the old configuration file to the configuration file of V200R006 version. Which of the following

versions should be upgraded to V200R006C10? Convert the old configuration file to the V200R006C10 version of the configuration file?

Options: 
A- V200R006C00

B- V200R005C10

C- V200R005C00

D- V200R003C00

Answer: 
B, C, D

Question 2



Question Type: MultipleChoice

As shown in the figure, the main lobe of the directional antenna has a broadband width of 31 degrees. What is the angle between the

two MPs on the right?

Options: 
A- 20 degrees

B- 30 degrees

C- 40 degrees

D- 60 degrees

Answer: 
A, B

Question 3
Question Type: MultipleChoice

Can a VAP created on a Mesh node be divided into?



Options: 
A- Managed VAP and business VAP

B- Backhaul VAP and default VAP

C- Business VAP and default VAP

D- Backhaul VAP and business VAP

Answer: 
D

Question 4
Question Type: MultipleChoice

Which of the following descriptions is wrong about the AD server and the LDAP server?

Options: 



A- AD is a Windows Server-specific directory server

B- LDAP can be installed on Windows Server

C- The directory service protocol used by the AD server is the AD protocol.

D- The directory service protocol used by the AD server is the LDAP protocol.

Answer: 
C

Question 5
Question Type: MultipleChoice

Regarding the NAC statement, what is wrong with the following description?

Options: 
A- NAC (Network Admission Control) is called network admission control.

B- NAC is an end-to-end security architecture that includes 802.1x, MAC and Portal authentication.

C- NAC access terminal equipment, if you need Portal authentication, you need to install client software.



D- NAC access terminals use 802.1x authentication, you need to install client software.

Answer: 
C

Question 6
Question Type: MultipleChoice

If you are roaming between two APs, which of the following must be met?

Options: 
A- The same security policy

B- Same SSID

C- The same data forwarding mode

D- The same service VLAN

Answer: 



A, B, C

Question 7
Question Type: MultipleChoice

The following description of load balancing is correct?

Options: 
A- The same radio of an AP can only be added to a load balancing group.

B- If it is a multi-frequency AP, the load balancing between the radios in the same frequency band on the AP is implemented.

C- A dual-band AP can be added to two load balancing groups at the same time.

D- Limited members in each load balancing group, supporting up to 32 members

Answer: 
A, B, C
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